Independent Practice | Year 6 | Ratio | Lesson 1

To understand and use ratio language - Questions

1.

Describe the items using the sentence stems.
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a. Forevery__________ strawberriesthereare_________bananas.
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b. Forevery_________cupcakesthereare ________cookies.

c. Forevery____ applesthereare_______ gingerbread men.
d. Forevery________sandwichesthereare_______ice creams.
e. Forevery_________squaresthereare_________ circles.
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2, Complete the sentences for the images.
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a. Forevery 3 cupcakesthereare_____ doughnuts.

For every 1 cupcakethereare______ doughnuts.
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b. For every 4 orangesthereare_______cherries.
For every 2 orangesthereare_____ cherries.
Forevery lorangethereare______ cherries.

¢. What is the same and different about the images?

3. Write sentences to describe the cubes.
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To understand and use ratio language - Answers

Question |Question Answer
No.
1 a. Forevery______ a. Forevery 4 strawberries there are 3 bananas.
strawberries there are b. Forevery 2 cupcakes there are 3 cookies.
______ bananas. c. Forevery2 applesthere are 6 gingerbread
b. Forevery ______ cupcakes men.
thereare cookies. d. Forevery4sandwiches there are 5 ice creams.
c. Forevery___ apples e. Forevery 3 squares there are 6 circles.
thereare gingerbread
men.
d. Forevery______ sandwiches
thereare ______ ice creams.
e. Forevery___ squares
thereare circles.
2 a. Forevery 3 cupcakes there a. Forevery 3 cupcakes there are 9 doughnuts.
are_____ doughnuts. For every 1 cupcake there are 3 doughnuts
For every 1 cupcake there are | b. For every 4 oranges there are 12 cherries. For
_____ doughnuts. every 2 oranges there are 6 cherries. For every
b. Forevery 4 oranges there are 1 orange there are 3 cherries.
_____ cherries. c. Same: Both images show for every 1 item there
For every 2 oranges there are are 3 other items. Different: Various answers.
_____ cherries. Example answers: There are different totals of
For every 1 orange there are each items. The food is all different.
cherries.

c. Whatis the same and
different about the images?

3 Write sentences to describe the | Answers will vary.

cubes. Example answers:

For every 4 green cubes there are 8 red cubes.
For every 1 green cube there are 2 red cubes.
For every 2 blue cubes there are 8 red cubes.
For every 1 blue cube there are 2 green cubes.
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